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Question 1

Rank the following ‘islands’ in order from the
most densely populated down to the least
densely populated:

(a) Bermuda
(b) Isle of Man
(c) Jersey

(d) Guernsey
(e) Malta

(f) Monaco
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Question 2

There are more licensed banks in
Guernsey than in Jersey.

True or False?
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Question 3

In the CGI’'s 2007 Member Survey, Companies selected the
major challenges facing business as:

(a) cost and availability of transport links;
(b) cost of labour;

(c) cost of premises;

(d) increased competition outside the island;
(e) shortage of labour;

(f) the use and availability of land.

Rank these in the same order of importance given by

respondents to the survey.
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Question 4

Since 1983, the total area in farming
has:

(a) increased by 1000 vergees;
(b) decreased by 1000 vergees;
(c) decreased by 2000 vergees
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Question 5

Jersey has more than twice as
many visitors as Guernsey.

True or False.
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Question 6

Since 2001, the Parish which has
recorded the highest number of

additional households is St Peter
Port.

True or False.
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Question 7

Since 2005, the crime rate in
Guernsey has increased.

True or False.
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Question 8

In the next decade, the number of
residents aged /5 years and over is
projected to increase by:

(a) 15%
(b) 30%

(c) 40%
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Question 9

The population of St Peter Port was
higher in 1951 than in 2001.

True or False.
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Question 10

In 2007, water consumption fell to
its lowest level in 20 years.

True or False.
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Question 11

Twice as many pleasure craft visited
Guernsey in 2007 than in 1990.

True or False.
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Question 12

Since 2000, bus passenger figures
have increased by:

(a) 16%
(b) 39%

(c) 64%
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Question 13

Since 1843, summer/autumn rainfall
has:

(a) decreased by 4%
(b) increased by 6%

(c) fallen by 16%
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Question 14

Accounting for buildings, roads and car parks,
greenhouses, the airport, swimming pools,
churches, fortifications and ruins, what
proportion of the island is built-up:

(a) 15%
(b) 20%

(c) 30%
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Question 15

In which Parish will you find these well known landmarks?
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